HETHEE EHRI

E&:d pizkiy HEEN R
PEP ¢ 50 (#%T ¥h
EFZOFMES 50 FEE 200 + 17 + 50 + 16
PEP ¢ 50 (#1%}) = 283 m 283 m
283 / 50 = 566 6 &
EFYV4 vk ¢ 50 2
= 2 2 &
X 50 FEE 1 X 0150 = 0150
1 = 1 1 &
To# PEfTYIRS—ILIEY)H |[FER 1 x 0653 = 0.653
50 1 = 1 1 @
LOaVEhRIRES b 250 1
= 1 148
Loav B @50 F= ¢ 250 1
H=610 = 1 1 48
wIT4—FM4IW W=75mm 283 + 015 + 0653 + 0340
= 2944 294 m
KERBEAT—H— K %R147.6KMZ 2
= 2 2 X
[ 283 + 015 + 0653 + 0340
K—50P—700 = 294 294 m
FRIMET 294 x 035
DT:EHE (L) L=7.4km = 103 10 m3
SHE IR UI#T 15cmBP T 1ZER [T I
T RI7ILNRERR 70 + 2925 + 05
SRR
= 36.8
E3CL:
31 + 31 + 16 - 11 + 28
+ 230 + 08
= 33.3
B 70.1 70 m
AR ]
70.1 X _170L/100m X 1/1000 = 0119 01 m
BHEE ARBEFTEA T=3cm{x & A 146
(IVRAE)
= 146
T=5cmA{E 18 34 + 34 + 184
252
B 39.8 40 m°
EM0E As3% L=9.4km
BTy DBk (ASHR) |(FHZEETE % 0.03) 146 x 003 = 0.44
(FHEZEEE % 0.05) 252 x 005 = 1.26
B 1.70 2 m3
EMERT PEP ¢ 50 283 + 015 + 0653
= 29.1 291 m
THFT ¢ 50 7
(EF#tF:10) = 7 7 &k
THFT 50
(EFfF:20) 2 = 2 2 BFT
SHERER BEZHAs 146
t=3cm = 14.6 15 m
TEEIE 1.8mK i
(FREAE IHETE) 25.2 = 25.2 25 m
SHEAER BEZHAs 252
HiE t=5cm = 25.2 25 m
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HETHEE EHRI

E&:d pizkiy TE
PEP ¢ 100 (R1 )
EFE® ¢ 100 TEE 05 + 0.5
PEP ¢ 100 (#1#}) 1.0 om
10 ~ 50 = 020 N
EFVA vk ¢ 100 2
2 &
F—X ¢ 100 % 50 FEE 1 x 0134 = 0134
1 1 &
wIT4—FAW W=75mm 10 + 0134 + 075 X
2.63
BRELT
BEK-100-800 2 2
T1T 10 + 0134
K—100P—800 = 1.13
RIMET 11 X 043 + 2 x 179
DT:EHE (L) L=7.4km = 407
SHE IR UIET 15cmBP T 1ZER RIA
T RI7ILNRERR 15 + 13 + 15 + 13 - 05 + 12
SRR + 12 - 05+ 15 + 13 + 15+ 13
- 05
12.1
E3CL:
48 + 19 + 48 +
123
244
AR
244 x_170L/100m X 1/1000 0.041
BHEE ARBE R TEA T=3cm{x & IH 20 + 06 + 20
(IVRAR)
46
T=5¢cmA{E I8 9.1
9.1
13.7
EMNE As3% L=9.4km
BTy B (ASTR) | (ShLEEFE x 0.03) 46 x 003 = 0.14
(FHE=mEHE % 0.05) 9.1 X 005 = 0.46
0.60
EfMERT PEP ¢ 100 10 + 013
1.1
THFT $ 100
(EF##F:20) 3 3
SHERER HEEHAs 46
t=3cm 4.6
TEEE 1.8mK i
(FREAE IHETE) 9.1 9.1
SHEAER HEEHAs 9.1
HEHE t=5cm 9.1
RE#R T s 16 X 2
iR B wisifE 3.2
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